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Teopema CMHYCOB

Popmyninposka. CTOPOHbI TpeyronbHUKa
NponopuMoHaribHbl CUHYCcaMm
NpoTUBONEXaLLKnX yrros.
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sin A sin B sin C ‘
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J[lokazaTenbCcTBO

Jlano: AABC /\
BC=a, CA=b,AB=c¢ C
Jlokazary: _ 4 _ _b _ _c )
sin A sin B sin C C <)
B
JloKka3aTensCeTBO: “
S:%absinC S:%bcsinA SzécasinB
A N LK
EabsinCzibcsinA EbcsinAzzcaSinB
asinC=csin A bsinA=asinB
a ¢ a b
sinA sinC sindA sinB
> b ‘/c

sinA sinB sinC



3agayuu

HaxoxaeHue CTOpIE)leI

JlaHo:

BC = 80,
/C=58°
/L A=175°
Hanitu: AB

C 80 b

Pemenue.
BC _ AB
sin A sin C
BC -sin C
sin A
80 -sin 58°

AB =

80 - 0,85
AB = ~
sin 75° 0,97
AB =70

HaxoxgeHune yrna

JlaHo:

BC = 80,

AB =70

L A=75°
Haiitn: 2C ¢

Peinenue.
BC AB

sinA  sinC

AB - sin A
BC

70 * sin 75° _

sin C =

70 - 0,97

sin €=—25 ~ T80

sin C = 0.85, ZL C=58°



3ameyaHue

OTHOLLUEHME CTOPOHbI TPEYroNbHMKA K
CMHYCY NPOTUBONEXALLEro yrra paBHo
ONaMeTpy ONMMCaHHOW OKPY>KHOCTU

sin A sin B sin C




[Tpumep

BC=16 cm
Z A =60°
R=7?
BC

=2R
sin A
P BC 16
~2sind - 2sin60°
p_ 16 _16y3
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